#### Jammu & Kashmir

# OFFICE OF THE EXECUTIVE ENGINEER PHE DIVISION SOPORE 817-23.

M/s Pervaiz Ahmad Parray

S/o: Gh. Nabi Parray, R/o: Saripara Rafiabad,

District: Baramulla Reg. No.: 71/SE/HYD/Hand/AYY-Civil/Sanitary 2006-07

E-Mail: parveezsp54@gmail.com

Phone No: 9149538441

Position of AAA : Accorded Position of T.S: Accorded

Retrofitting of water supply scheme Nowpora Kalan by way of laying/fitting of pipes, chain Anchor blocks & allied

works under JJM (Tender Id: 2023\_PHE\_204330\_2).

1. Your on-line tender received in response to this office Fresh E-NIT Ref:

No: 48/JJM/JSDS of 02/2023 dated? 06-02-2023 S.No: 02

2. Superintending Engineer Hyd. Circle Sopore's Authorization issued

vide No: SE/Hyd./DB/536-48 dated: 18-04-2023

For and on behalf of Lt. Governor of Jammu and Kashmir Union

Territory, contract for the work mentioned above is here by fixed with you on the following rates, terms and conditions.

F.	Rates: Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
	Earth work in excavation by mannual means over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan)	Cum	4831.90	436.00	2106708.40
	cutting edge, disposed earth to be levelled and	L	29,16	855.65	24950.75
2	Earth work in excavation by mathitual fictures over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan) including disposal of excavated earth upto 1m cutting edge, disposed earth to be levelled and		29,10	l	at
3	neatly dressed in ordninary rock  Providing and laying of dry Stone soling in horizontal on level.		e (	816.40 4861.83	41326.17 <b>L</b> 220435.37
4	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering.1:4:8 (1 cement : 4 coarse sand : 8 graded stone agg. 40 mm nominal size				15

al Officer

Dated: 20-04-2023

Advt. Cost: Rs.104.97 lacs

Allott. Cost: Rs.100.88 lacs Time of Complt.: 90 days

Page 2<sup>nd</sup> W.S. Scheme Nowpora Kalan under JJM

S.	Particulars of Items	Unit 7	Quantity	Allotted Rate	Amount in Rs.
10		Cum	184.50	6465.19	1192827.56
5	Providing and laying in position cement	Cum	101100		
1	at a f appoissed grade including curing but				
	the cost of centring and shuttering				
1	An analy mate plinth level with: 1.2.4 (1 comons				9
	: 2 coarse sand : 4 graded stone aggregate 20	R	S	e	
1	- minal aigal		93.99	6978.67	655925.19
	it and loving in position specified grade	Cum	, , , , ,		
0	c ' Cad comoni Collected interest				
	the cost of containing				
1					0
	coarse sand: 4 graded stone aggregate 20 mm	0	8		
1		Com	998.50	262.30	261906.55
7	1 1 the sing including Strutting,	Sqm	990.00		6
1	ato and removal of ionia	d	1		~
			31.36	573.85	17995.94
		Sqm	31.30	0.0.5	0
8	centering and shuttering including by propping etc. and removal of form for: walls of	1	1	0	
	1 ' 1 0		3731.62	87.17	325285.32
		Kg	3/31.02	0,,,,,	0
9	Reinforcement for RCC work included straightning, cutting, bending, binding. T.M.T	1	0	l &	V
	straignining, cutting, series of	R	4.68	1454.80	6808.4
	bars b) Fly proof stainless steel grade 304 wire gauge b) Fly proof stainless steel grade 3.4 mm wide	Sqm	4.00	1404.00	_
10			2	l	
	aperture with matching wood beading		4.68	938.25	4391.0
	aperture with matching wood beauting c) Float glass panes of 4 mm thick glass pane c) Float glass panes of 4 mm thick glass pane	Sqm	4.68	930.20	
11	c) Float glass panes of 4 mm thick gas 1 (weighing not less than 10 kg/sqm) for exterior	0		1	J
	(weighing not less than 15 -3/	L.K.	2.00	138685.40	418829.9
	Window Shutters Providing, hoisting, trusses, perlins, rafters, providing cost of	Cum	3.02	138000.10	
12	Providing, hoisting, trusses, permis, posts or like componants including cost of posts or like componants including wood	0	0	(	1
	posts or like components metallo wood screws, nails complete ist class badloo wood washable		- 20	149.05	18494.1
	screws, nails complete is electronic washable	Sqm	124.08	149.00	
13	Distempering with	:			
	distemper of approved brand and metrality to give an even shade on New work (two or to give an even shade including priming coa				
	to give an even shade off New Work (some more coats) over and including priming coats	R	0	1	1
	with water thinnable cement primer			121.95	3620.
	with water thinnable cement printing with ready mixed pinl	Sqm	29.69	121.95	00201
14	with water thinnable cement primer  Applying priming coat: With ready mixed pinl or grey primer of approved brand and or grey primer wood work (hard and sof	l			
	or grey primer of approved states and sof	t	0	, ,	1
	manufacture on wood work (			52.75	24497.
	wood) Applying priming coat With Ready Mixed Ready Approved brane	1 Sqn	1 464,40	52.75	2413.1
15	Applying priming coat with Ready indeed Oxide Zinc Chromate Primer of approved branches	1	0	0	
	Oxide Zinc Chromate Filmer of approximate in the control of the co	4	8	170.00	83499.
	on Steel Works:	f Sqn	1 464,40	179.80	00477
16		a	0 2	1	
	and manufacture to g				279039.
				343.75	279039.
17	Thick cement sand plaster minutes		1	(	1500.
			15.00	100.00	1500.
18	Providing and fixing 80mm dia 1 ve pipes				
1	areation purpose				<b>F</b>

Head Draftsman

Mac nical Officer

xen

Page 3rd

		W.S. Scheme Nowpora K	alan ı	ınd	er JJM		,
		Particulars of Items	Unit	Qu	antity	Allotted	Amount in
S.		Particulars of items	4		l	Rate 0	Rs.
No		actural steel work in single section, fixed	Kg	653	28.65	91.02	594237.72
19	Stru	h or without connecting plate, including					
	cut	ting, hoisting, fixing in position and					`
	anr	blying a priming coat of approved steel	0		0	8	e
	pri	mer all complete	_	<u> </u>	7 10	830.25	64327.77
20	Pro	oviding corrugated G. S. sheet roofing	Sqm	7	7.48	630.23	
	line	cluding vertical/curved surface fixed with					
	po	lymer coated J or L hooks, bolts and nuts					,
	8n	nm diameter withbitumen and G.I limpet		1			
	Wa	ashers or with G.I. limpet washers filled with hite lead, including a coat of approved steel					
	W	rimer and two coats of approved paint on					
	bi	verlapping of sheets complete (upto any pitch					
	lir	horizontal/ vertical or curved					
	S	urfacelexcluding the cost of purlins, rafters					
	la	and trusses and including cutting to size and	0				0
	1 8	shape wherever required. 0.50 mm thick with	2		K	L	1
	2	zinc coating not less than 275 gram/m2	Mtr	_	12.60	476.90	6008.94
21	1	Providing and fixing rods of 1.25mm thick crominium plated brass plates with 2 cromium	1,111		-115 (390		
1	1'	plated brass brackets fixed with CP brass					
		screws and wooden plugs etc. whatever		-			
	1	necessy complete 25mm dia		_			
23	2	Electrification of pump House by providing				-	
		fixing/fittings wire switches, channels,				0	
1		boxes,Boards,MCP etc. of standard qualities ISI mark etc (complete job)	R	7	L	1	· •
2	23	a) Heating Point	No.		4.00	2000.00	8000.00
-	24	b) Lighting Point	No.	R	11.00 🗸	1500.00	16500.00
	25	Providing and fixing of service line of approved	Mtr		40.00	150.00	6000.00
1	25	quality		84			
	26	Providing and fixing GI Chain Link fabric	c   Sqm	1	450.00	733.50	330075.00
		fencing of 4mm dia wire of required width in	n				
		mesh 50mmx50mm including cost of nuts and	וו				
		bolts, washers as required at site with a carriages (Complete Job)	"	0	8	8	·L
-	27	Providing and fixing of 100mm dia MS flange	s Join	its	565.00	1500.00	847500.00
		including cutting, welding insertion of rubbe	er	0	l.	2	
_		gasket, fixing of nuts and bolts complete job		1	7.4	1	e e
	28	Providing and fixing of 80mm dia MS flange	es Joir	nts	565.00	1100.00	621500.00
		including cutting, welding insertion of rubbe gasket, fixing of nuts and bolts complete job	31	2	8	0	
+	29		ip K	g	150.00	100.00	15000.00
		including one end fix anchor block					15000.50
	30	3 3 1 1		0			
		pipes		1	2100		0
	31			ltr	3180.00		302990.40
	32		M	ltr	3500,00	58.30	204050.00
	3:		N	Itr'	2500.00	54.62	136550.00
	3	4 25mm dia GI	N	Atr	3000,00	39.14	117420.00

Head Draftsman

Jeshnical Officer

Exer

Page 4th W.S. Scheme Nowpora Kalan under JJM

	W.D. DOZZ			_	
		Unit	Quantity	Allotted	Amount in Rs.
	Particulars of Items			Rate	
0			3000.00	39.14 (	117420.00
		Mir		26.76	120420.00
4	25mm dia GT	Mtr	4500.00	26.70	4
35	20mm dia GI	Mtr	3500.00 €	25.40	88900.00
36	15mm dia GI	Cum	4137.26	198.70	822073.56
37	Filling available excavated earth (excluding	Cum			
31	Filling available excavated carm (and rock) in trenches, plinth, sides of foundations rock) in trenches, plinth, sides of foundations			5	
	rock) in trenches, plinth, sides of localization of etc. in layers not exceeding 20 cm in depth,				. 0
	etc. in layers not exceeding 20 cm in 327 consolidating each deposited layer by ramming consolidating each deposited layer by ramming 1.50 m and lift upto 1.5			0	
	consolidating each deposited layer by rather 5 and watering, lead upto 50 m and lift upto 1.5	1	l	(*	98625.16
	m.	Qt	401.65	245.55	90020.10
38	Laying in position centrifugally cast (spun) iron				
	Laying in position centrifugally cost of pipes   S&S or flanged pipes   Excluding cost of pipes	-			
39	Providing push on joints to centrifugally cast (spun) iron S&S or flanged pipes or ductile iron		0	0	Q .
	(spun) iron S&S or llanged pipes of december		K	213.00	19383.00
	pipes including testing of joints	Joint	91.00		
40	200mm dia DI	Joint	182.00	144.70	26335.40
41	150mm dia DI Materials by Mechanica				
42	Carriage of Materials by Mechanica	t			
	transport from different sources to neares dumping site of work including loading	ξ,		. 0	$\ell$
	dumping site of work meraus		<u> </u>	303.64	46882.02
	unloading	MT	154.40		205845.22
43	Cement & Steel Avg lead 15 Km	Cum	455.44		
4	Sand and Bajree for average lead of 25 Km	Cum		531.72	54075.92
4	a line for 25 Km		141.16		42861.82
1	- C Dines from Divisional Stole	to MT	141.10	<b>d</b>	4
1 4	dumping site by M T for average 05km	m Mtr	5.00	1222.34	6111.70
		or	(		
1	Divisional Store to dumping site by in	.01			7514.40
			10.00	751.44	(214.40
	48 Carriage of 150mm dia D.I Pipes from Divisional Store to dumping site by M T	for			
1	Divisional Store to dumping site by				10497229.00
-	average 05km  Total				408342.20
-	Below -3.89 % on all itmes				10088887.00
1	Allotted Cost				

Rates and quantities checked:

Head braughtsman

Technical Officer

Executive Engineer

Jal Shakti PHE Division

Sonore

### Page 5th W.S. Scheme Nowpora Kalan under JJM

## Terms and conditions:

- 1. Total amount of the work should in no case exceed beyond Rs.10088887.00 (Rs.One Crore Eighty & Eight thousand Eight hundred and Eighty seven only which includes all taxes, levies etc applicable as per norms amended by competent authority from time to time.
  - 2. The work shall have to be completed by you within a period of 90 days failing which the panality under rules shall be imposed upon you.
  - 3. Performance security @ 3% of allotted cost i,e Rs.302666.00 in shape of CDR/BG/FDR shall have be deposited by you in this office within seven days from the date of issue of this allotment from this office failing which action shall be initiated as per SBD of the
  - 4. An agreement shall have to be drawn by you with the department within a period of 07 days from the date of issuance of allotment, failure to executed such a formal deed shall not however prevent the contract from being enforced upon you. However payment on account of this work shall not be considered in absence of agreement.
    - 5. The earnest money amounting to  $\frac{Rs.210000}{=}$  deposited by you in this office as a bid security against the contract vide CDR No: 063197 dated: 05-04-2023 shall be considered for release once the performance security @ 3% of allotted amount is deposited by you.
    - 6. The allotted work shall have to be monitored by Third Party Monitoring Agency (WAPCOAS) appointed by the department.

7. All other terms and conditions shall remain same as laid down in E-NIT/ Standard bidding document/PWD from No 25 and GFR-2017.

Technical officer

Executive al Shakti PHS Division Sopore

#### Copy to the:

Chief Engineer Kashmir Jal Shakti PHE Department Srinagar for favour of information.

District Development Commissioner Baramulla (Chairperson DJJM) for favour of information. i) 11)

Superintending Engineer Hydraulic Circle Baramulla/Bandipora (Member Secretary JJM) for favour of information. iii)

Assistant Executive Engineer PHE Sub Division Watlab for information and necessary action. iv)

M/S WAPCOAS Ltd Corporate office 76 C intuitional area sector 18 Gurgon for information V)

Head Draftsman for information. VI)

File Concerned